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PHILOSOPHY — HONOURS
Fourth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version |
The figures in the margin indicate full marks.

Question no. 1 is compulsory.
Answer five more questions taking at least one from each Unit.

1. Answer any four questions : 5%x4

(a) What is meant by a proposition and form of a proposition? Explain with examples.

(b) What is meant by distribution of terms? Why does ‘E’ proposition distribute both the subject and the
predicate terms? Give example.
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Explain with examples any two Laws of thoughts.

State the rules of ‘>’ (implication) and the rule of ‘=" (equivalence) from the rules of Resolution.

Express the following sentences in Boolean notation and represent them by means of Venn diagram :
(i) Everything is beautiful
(i) Nothing is beautiful.

Explain with example the addition theorem of calculating probability.

Explain in brief the advantages and defects of Mill’s Method of Difference.

If A and B are true and X and Y are false, what will be the truth value of ‘(A-X) = (B-Y)’?

Unit — 1
What is the nature of conversion? What are its rules? Explain.
Distinguish between simple conversion and conversion by limitation.
Convert the following sentences :
(i) Only girls can participate in this competition
(i) No round things are square

(ii)) Children are beautiful. 6+4+6

Test the validity of the following with the help of Venn diagram (any two) :

(i) Whoever is not a friend of Rajesh is not a friend of Sachin. So friends of Sourabh are never
friends of Sachin, since there are no friends of Rajesh who are not friends of Sourabh.

(i) Some philosophers are mathematicians. .. Some scientists are philosophers, since some
scientists are mathematicians.

(iii) Some Spaniels are not good hunters. All Spaniels are gentle dog. Therefore, no gentle dogs
are good hunters.

What is an empty class? What is the importance of empty class in Boolean interpretation of
categorical proposition?

What is existential fallacy? Give an example. (4x2)+4+(2+2)
Explain with example, the distinction between pure hypothetical syllogism and mixed hypothetical
syllogism.

Explain with examples two valid moods of hypothetical categorical syllogism.

What is dilemma? Give an example. 6+6+4
Unit — 2

What is analogical argument?

What are the criteria for appraising analogical argument? 4+12
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6. Write short notes on any two : 8+8
(a) Seven steps of scientific enquiry.
(b) Different meanings of the term cause.
(¢) Mill’s method of concomitant variation.

7. (a) Of two urns, one contains two white balls and four black balls, and another contains three white

(b)

(c)

(d)

(b)

(c)

(d)
9. (a)

(b)

balls and nine black balls. If one ball is drawn from each of two urns, what is the probability of
getting at least one white ball?

In drawing three cards in succession from a deck of cards, what is the probability of three
non-hearts—

(i) if each card is replaced before the next draw, and
(i) if the cards are not replaced?

Keeping their umbrellas at the corner of the room, four men sat together for a game of cards.
When they returned to their own homes, what is the probability that each of them would pick up his
own umbrella in the dark?

Explain the a priori theory of probability. 4+4+4+4
Unit — 3
Characterise the following statement forms by means of truth tables :

O Po2PPI>P>9
@ (po>p)>(P>p
Determine the validity of the following argument by truth table method :
We shall fish if it rains and swim if it does not. .. We shall fish or swim.
Determine the truth value of the following proposition form with the help of the method of resolution :

[P v T)]>(@=1)
How does Quine distinguish between the conditional and implication? (3x2)+4+3+3

Construct formal proof of validity (any three) :
) Z>oZ)yo(A>A)
ADA)DZ>22)
LADA
i Jv (~J-K)
JoL . (LD)=]J
(i) If the Indian team wins this match, then they will win the series. Therefore, if they win this
match, then if they can continue the attack, then they will win the series.

(iv) If either Socrates is happily married or he was not happily married, then he is a great
philosopher. .. Socrates is a great philosopher.

Determine the invalidity of the following arguments by the method of assigning truth value :

A>DB, CoD, AvD .. BvC (4x3)+4
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Unit — 4
Symbolise the following sentences using quantifier, individual variables etc :
(i) Some medicines are dangerous only if used in excessive doses.
(i) A boxer who wins if and only if he is lucky, is not skillful.
(i) It is not the case that the diplomats are always rich.
(iv) Wolthounds and Terriers are hunting dogs.
Construct formal proof of validity (any two) :
1 (x) Bx>~Cx)
(Ix) (Cx-Dx)
- (3x) (Dx- ~ Bx)
(i) (x) (Dx > ~Ex)
(%) (Fx o Ex)
* (x) (Fx o ~Dx)
(iii) No politicians are happy.
Some idealists are happy.

*. Some idealists are not politicians. (2x4)+(4%2)

What is normal form?

Express in logically equivalent normal formula :

~ () [~ (Sx- ~ Tx)]

Determine whether the following statements are true or false and correct the false one :

(1) The universal quantification of a propositional function is true if and only if all its substitution
instances are true.

(i) The existential quantification of a propositional function is false if and only if at least one of its
substitution instances is false.

Determine the invalidity of the following arguments by the method of assigning truth value :
(1) (Ix) (Ax - Bx), (Ix) (Cx - Bx)
S (x) (Cxo~Ax)
1) (Ix) Jx - Kx)
(3x) (Kx - Lx)
s (3x) (Lx - Jx) 242+(2x2)+H(4x2)




